QO
= "
© N
. S
dS
SR
© [
= I
O B
ol O
O IS
= K]
<[S
B
O
ol
Toll

<|s|=< =|zxs|c|<|<|<| 2
> 2| N X2 N|F|la|al| s
SWVWWWWVVVVW

:

1495



VFA1000/3000/5000 Series
Model Selection by Operating Conditions (1

Air Operated Valve: Single Unit

Sonic conductance Port Pilot port

Series Cldm¥(s-ban)] Type of actuation size direction

VFA1000 2 position single
VFA1000
®2 40
>
(EB)3 15(EA)
P)

B 0.76 VFA3000 M5 x 0.8
.“f 2 VFA5000 1/8

(A4 2(8)

>
(EA)5 1 3(EB)
®

2 position double

VFA3000 VFA1000

(B)2 4(A)

- o
(EB)3 1 5(EA)
P)
VFA3000
acs 0 VFA5000 1/8 01408
e - . w4 26) ;
| . . 1/4

(EA)5 13(EB)
(P)

Body ported

Upward
3 position closed center

(R4 2(B)

VFA5000 e “+

(EA)5 13(EB)
(P)

3 position exhaust center
4 26)

- B 8.8 - EA)S 13(EB v 14
:’B Lo ’ ER R ER 3/8

3 position pressure center
(A4 2(B)

Lateral
. M, .
(EA)5 1 3(EB)
()

VFA3000 2 position single

(A4 2(8)

-
(EA)S 13(EB)
(P)

Ba T 2 position double 1/4
‘.'H/I;O 81 *t 36 3/8
> <-
(EA)5 1 3(EB)

(P)

3 position closed center
(W4 2(8)

VFA5000 e -

(EA)5 13(EB)
(P)

P.1506

Base mounted

3 position exhaust center
4 2@)

o o NI 4

I‘L 9.4 (ER)5 13(E8) 3/8
L )

| 1/2

Yy ) [ ] L 3 position pressure center
(A4 28)
Y .
(EA)5 13(EB)
®)

1496
Best Pneumatics 1-2 Ver.6



VFA1000/3000/5000 Series

Model Selection by Operating Conditions (2)

Air Operated Valve: Manifold

Body ported

Base mounted

Qs EXH port Manifold Applicable Applicable
type base model valve model stations
VFA1000 VV5FA1-30
4 (A) 2 (B) port
Common
EXH
1/8 2to
VFA1030 "
VV5FA1-31 (A).2 (B) port 20 stations
Individual
EXH
M5 x 0.8 1/8
VFA3000 VV5FA3-30
Common 2to
EXH VFA330 20 stations P.1512
VFA5000 VV5FA5-20
Common 2to
EXH 10 stations
VFA5020
VV5FA5-21
Common 2to
EXH 15 stations
VFA3000 VV5FA3-40
T _“.‘ e Common 2to
g I\/\I‘i’: EXH VFA3040 20 stations
vy
e P.1518
VFA5000 VV5FA5-40 :
=T Common 210
> 1 ﬂ; EXH VFASI44 10 stations
Yo &
)
(A) 2 (B) port
1/4
1497

Best Pneumatics 1-2 Ver.6

2RI
-
£|s

=
N
=

FRA
PA4

PA

HHEEHEHEE =



5 Port Air Operated Valve

VFA1000/3000/5000 Series

Body Ported Single Unit
How to Order Valve
VFA[3]]3]0 o1 - I-

Series Pilot port direction
1 VFA1000 Nil: Upward P: Lateral
3 | VFA3000 Pilot port
5 | VFA5000

Type of actuation

1 |2 position single
2 | 2 position double
3 | 3 position closed center
4 | 3 position exhaust center
5 | 3 position pressure center
+Only 1 and 2 are available with the VFA1000.
Bracket
Symbol| VFA1000 VFA?(::SY \r/‘:zz:(illo il ‘ Without bracket
2 o — o F With bracket
5 = 5 = VFA1000, 3000
Single type
(The bracket cannot be connected after delivered.)
A, B port size
Symbol| Port size | VFA1000 | VFA3000 | VFA5000
M5 | M5x0.8 O — —
o1 1/8 o o —
02 1/4 — o o
03 3/8 — — o
VFA1000
_Thre_ad type Double type only
(Including pilot port)
Nil Rc
F G
N NPT
T NPTF
* M5 is available with Nil only.

* Not available with the VFA5000.

1498

Best Pneumatics 1-2 Ver.6



i

.

Ll

5 Port Air Operated Valve
Body Ported/Single Unit

VFA1000 series

VFA3000 series

VFA5000 series

VFA1000/3000/5000 Series

Specifications
———————
Model VFA1000 | VFA3000 | VFA5000
Fluid Air
Operating pressure range | 2 position single 0.15t0 1.0

(MPa)

2 position double/3 position Note2)

-101.2kPato 1.0

2 position single

(0.4 x P +0.1) to 1.0, P: Operating pressure

Pilot pi e range

(MPa) 2 position double 0.1t0 1.0
3 position 0.15t0 1.0

Ambi

t and fluid temperature (°C)

-10 to 50 (No freezing)

Lubrication

Not required

Mounting orientation

Free

Impact/Vibration r (m/s?) Note 1)

300/50

Note 1) Impact resistance:

No malfunction to axis and right angle directions of main valve, each one time when

pilot signal ON and OFF. (Values at the initial period)
Vibration resistance: No malfunction from test with 45 to 2000 Hz one sweep, to axis and right angle
direction of main valve, each one time when pilot signal ON and OFF. (Values at

the initial period)
Note 2) Except VFA1000

Pilot Pressure Range (Single pilot)

1.0

0.9

0.8

07 Pilot pressure
range
0.6

0.5

0.4

Pilot pressure (MPa)

0.3

T

0.2

0.1

01 02 03 04 05 06 07

Operating pressure (MPa)

09 1.0

1499
Best Pneumatics 1-2 Ver.6

=ll=lle=l=E==<|x
N-<'U-"| N-<
>>'S§§H>':E§

T

S|S
==

s
=
()



VFA1000/3000/5000 Series

Flow Rate Characteristics/Weights

Port size Flow rate characteristics Note 1)
1-4/2 (P>A/B) 4/2-5/3 (AB—EA/EB)
Valve model Type of actuation 1,4,2 53 Weight (g) Nete2)
(P.AB) | EAEB) ClAMT I g, Ol g,
(s/bar)] (s/bar)]
VEA1LI20M 2 vosit Single M5 0.8 049 | 040 | 013 | 052 | 035 | 0.13 97
- osition x 0.
B P Double 0.49 0.40 0.13 0.52 0.35 0.13 120
Y IEFRGT 5 it Single 18 M5 X 0.8 0.76 0.22 0.17 0.53 0.28 0.13 93
- osition X 0.
Y P Double 0.76 0.22 0.17 0.53 0.28 0.13 116
5 it Single 3.0 0.38 0.78 2.8 0.30 0.67 135
osition

P Double 3.0 0.38 0.78 2.8 0.30 0.67 158

Closed center 24 0.31 0.64 1.8 0.37 0.46

VFA3030-01 1/8 3.0 0.32 0.76
3 position Exhaust center 26 0.37 0.70 25] [0.28] | [0.62] 175

3.0 0.42 0.83

Pressure center [1.4] [0.44] | [0.39] 2.4 0.27 0.59

2 vosii Single 4.0 0.36 1.0 3.1 032 | 075 131
osition

P Double 4.0 0.36 1.0 3.1 0.32 0.75 154

Closed center 24 0.45 0.68 1.9 0.37 0.47

VFA3030-02 1/4 1/8 31 0.36 0.79
3 position Exhaust center 3.0 0.42 0.82 27] [0.29] | [0.66] 171

55 0.37 1.4
Pressure center [14] [0.50] | [0.40] 26 0.32 0.64

» Single 7.1 046 | 1.9 7.7 051 | 22 294
2 position
Double 71 0.46 1.9 7.7 0.51 22 329
Closed center 6.7 0.46 1.8 6.6 0.41 1.8
VFA5[]20-02 1/4 8.0 0.45 22
3 position Exhaust center 741 0.42 1.9 [7.4] 047 | 21 368
6.8 0.51 20
Pressure center 27] [0.50] | [0.78] 5.7 0.37 14
" Single 8.8 0.44 2.4 10.0 0.49 29 280
2 position
Double 8.8 0.44 24 10.0 0.49 2.9 315
Closed center 7.5 0.43 2.0 7.5 0.38 1.9
VFA50120-03 3/8 10.0 0.48 3.0
3 position Exhaust center 8.3 0.40 22 871 [0.46] | [2.4] 354
9.2 0.50 2.6
Pressure center 13.0] [0.49] | [0.85] 6.1 0.35 1.6
Note 1) [ ]: Normal position

Note 2) Values without bracket

1500
Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve
Body Ported/Single Unit

Construction: Body Ported

2 position single VFA1000

Symbol

2 position single
VFA1000 (g 4p)
o T2

(EB)3 1 5(EA)
(P)

VFA3000
VFA5000 4 2()

—»Mi{%

(EA)5 13(EB)
P)

b
T N— Q

3 15
(EB) (P) (EA)

1
D
He===J =0
1SN
3 15
(EB)(P)(EA) (5

3 position closed center/exhaust center/pressure center

2 position double
Symbol
2 position double
VFA1000

S G--
(EB)3 1 5(EA)
(P)

(B)2 4(A)

VFA3000
VFA5000 (a4 2(8)

v v

(EA)5 1 3(EB)
®)

Symbol
3 position closed center
(W4 2(8)

. % --
(EA)5 1 3(EB)
P)

3 position exhaust center
W4 26)

- W
(EA)5 1 3(EB)
()
3 position pressure center
(A4 2(B)

S G-
(EA)5 1 3(EB)
P)

Component Parts

VFA1000/3000/5000 Series

VFA3000, 5000

5 1 3
1) €N P EB)

(Drawing shows a closed center type.)

No. Description Material Note
1 Body Aluminum die-casted White
2 Pilot plate Aluminum die-casted Gray
3 | End plate Resin (x:?:ﬂzg:z Aluminum die-casted> White
4 | Piston Resin
5 Spool valve Aluminum, HNBR
6 | Spring Stainless steel

Bracket Assembly Part No.

Description ‘ Part no.

Bracket (for VFA1000 double) ‘ DXT144-8-1A (With 2 mounting screws)

1501
Best Pneumatics 1-2 Ver.6

FRA
PA4

HHEHE

HE
= || >

=
D
=

3
=

s
=
()



VFA1000/3000/5000 series

Dimensions: VFA1000 Series/Body Ported

2 position single 2 position double
VFA1120-M50(-F)(-P) G VFA1220-M50I(-F)(-P)
2\~ 2
A 2
13 %
% %
M5 x 0.8 8% M5 x 0.8 B
[ (A) 2 @ por . 6 ‘ 148 & “@®.2@port\ z
oy e o i
‘ S
18 ! e o wo
(Pilot port: Upward) ' (1.6) (Pilot port: Upward)
455 (6)
(75 (73
1/8 God NS
[Pilot port: Lateral (-P)] ey, 118 P o
o ) 5 [Pilot port: Lateral (-P)] g
% B @ EB
b o @ g 3 \7 8 -
of 3| 8 ® § © ” o
553 = @ = ERA s
e i M5 x 0.8 - i IR
(16) M5x 0.8 12 1.8 [5 (EA), 3 (EB) port] (40) g
26) 5 (EA), 3 (EB) por] 2x045 (50)
(For mounting)
2x05.5
(For mounting) 02 405 2x02

(Breathing hole) R (Breathing hole)\ [~ ]
IINE 1 1P ‘ 21

of 17 of [ 17 5

M5x0.8, 1/8 Msxos, a7 T
[1(P) port]

[1 (P) port]

2 x M4 x 0.7 thread depth 5

(For mounting) 10 129 &

2 x M4 x 0.7 thread depth5
(For mounting bracket)

VFA1120-010(-F)(-P) G, VFA1220-010(-F)(-P)
4}7@
38 %‘&g}
1/8 115 12 1/8
[4 (A), 2 (B) port] [4 (A), 2 (B) port]
0y [ Ty ©) [
| gt z I
118 ! an - 18 !
(Pilot port: Upward) (1.6) (Pilot port: Upward)
45.5 (6) 40.5 .

1502
Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve
Body Ported/Single Unit

Dimensions: VFA3000 Series/Body Ported

2 position single

VFA1000/3000/5000 Series

2 position double

VFA3130-33(-F)(-P) VFA3230-30(-P)
8, 14 635 28 | 2x043
10 255 | 2x043 1/8, 1/4 0 | et
[4 (A), 2 (B) port] ‘ (For mounting) 1), 2B)pord ﬂ ) (For mounting) sYA
) 4 I
HBlIZ T D O B
1/8 ! B o8 P s 1/8 B "~ = |
(Pilot port: Upward) 8 (Pilot port: Upward) o VZA
71 (6)
1/8
[Pilot port: Lateral (-P)] 1/8 VFRA

S T [Pilot port: Lateral (-P)]

\\,y = " NG - VP
m’lg g s g 8Bl [SYA
~ ~

@ 1= id @& |* i \

3 2xo042/ | 205 2x04.2 ‘ 205 t VZA
16) | N2 x 5.5 (For mounting) (For mounting)
(26) (For mounting) ‘ITA
1/8, 1/4 84 1/8,1/4 18
e {1 (P) port J(Ffs%'an::"J v [1(P)port] (D:zan 184 VGA
C
{5 (EA). 3 (EB) port] EIWein ports) [5(EA), 3(EB)port] betwesn p;,s) VPA
% } lg; 1P SEP ®) * } %?; 1P SEP
| VPA3
ST sEp o l ﬂ ‘ s O A
22 __ 36 125 2x02 36 ~
(Breathing hole) 05 (Breathing hole) >
66
3 position closed center/exhaust center/pressure center
3
VFA32130-30(-P)
5 1/8, 1/4 28 2xe43
[4(A), 2(B)port] 10 (For mounting)
4
AL G —T—T T
ol ¢
8 > 5 " N
(Pilot port: Upward) 33 49
40.5 (56.5)
97
1/8
Pilot port: Lateral (-P)]
N s
f] e ©
| = pid !
2x04.2 20.5 !
(For mounting)
1/8, 1/4 16.4
<L, (18.
1/8 [1(P)port] bet(D’SYance &
I5(EA), 3(EB)port] Wee/"pons)
1 } Q 1P GEP @ 2
ﬁT SEA [
2x02 36
(Breathing hole) 355 ‘ 515
1503

Best Pneumatics 1-2 Ver.6



VFA1000/3000/5000 Series

Dimensions: VFA5000 Series/Body Ported

2 position single 2 position double
VFA5120-8§D(-P) VFA5220-8§D(-P)
110 119
97.5 94
44 28.5 44
(28.2) 28.2)

(Distance (Distance
betieenpor) between pors)
%E* 4A /\ G $7 4A ;\ o—

> Si
o | o e e

S

24
32
32

2x04.3 28 36.5 2x04.3 28 1/4, 3/8
F ti For mountin 4 (A), 2 (B) port]
78 (For mounting) 1/4, 318 1/8( r mounting) [4 (A), 2 (B) port]
(Pilot port: Upward) [4 (A), 2 (B) port] (Pilot port: Upward)
1/8 1/8
[Pilot port: Lateral (-P)] 50.5 [Pilot port: Lateral (-P)]
?@L L | A %& Q{T T ] s
1R o N Q o & as!
of s bt © r ¢
3x04.3 ‘ 27 ‘ 37 :? 3x04.3 ‘ 27 ‘ g
(For mounting) (For mounting)
23 ) 101.5 2x03
(Breathing hole) 50.5 (Breathing hole) 102
3 CEEE B 3 S P ®@ | 1Y
f Y Y I i AANVARNVA RS
5EA © b 5EA o H 3
1/4,3/8 52 1/4,3/8 52
[1 (P), 5 (EA), 3 (EB) port] [1(P), 5 (EA), 3 (EB) port]

3 position closed center/exhaust center/pressure center

VFA5320-20(-P) 18
5 59.5 (78.5)
47 66
(28.2)

(Distance [~
between port) \7

Fl | o4A 1] —
? /] /\ il < s
il u s ¥
18 - 5 AN 2l
(Pilot port: Upward)
2x043 2 114,38
(For mounting) 44 [4 (A), 2 (B) port]

1/8
[Pilot port: Lateral (-P)]

Dol JITTT i

40
36
45

©
& P & B
- i
3x04.3 ‘ 27 ‘ 3
203 (For mounting) N
(Breathing hole) 51 70
jr.l I B E13 3EB R
D D
i b J N H
- '5EA @ 22 3
1/4,3/8 52

[1(P). 5 (EA), 3 (EB) port]
1504

Best Pneumatics 1-2 Ver.6



<|s|=< =|zs|<|<|<|<<| 2
> 2| N X2 N|F|la|a| =

1505



5 Port Air Operated Valve

VFA3000/5000 Series

Base Mounted Single Unit

Base mounted
VFA

[3 ] vFAsoo0 |
[5 [ vFasooo |

+ Not available with
the VFA1000.

Type of actuation

How to Order Valve

Series

2 position single

2 position double

3 position

closed center

3 position

a|slwN =

exhaust center

3 position pressure center

Body model
Body option
Symbol | VFA3000 | VFA5000
0 O —
4 — o

Port size (Sub-plate)

4[0]-02] ]-

Pilot port direction
Nil: Upward P: Lateral

Pilot port

Thread type
(Including pilot port)
Nil Rc

F G

N NPT

T NPTF

Symbol| Portsize | VFA3000 | VFA5000
Nil Without sub-plate (Pilot port: Rc)
00 | Without sub-plate (Pilot port: Other than Rc)
02 1/4 o o
03 3/8 o o
04 1/2 — o

# Without the sub-plate, two mounting screws and a
gasket are included.

1506

Best Pneumatics 1-2 Ver.6



—

s.,

o,

VFA3000 series

. ‘Q'

VFA5000 series

Sase Mountearsingie unt VIFA3000/5000 Series

SEecifications

Model VFA3000 VFA5000
Fluid Air
Operating pressure range| 2 position single 0.15t0 1.0
(MPa) 2 position double/3 position —101.2 kPato 1.0
Pilot pressure range 2 position single (0.4 x P + 0.1) to 1.0, P: Operating pressure
2 position double 0.1t0 1.0
(MPa)
3 position 0.15t0 1.0
Ambient and fluid temperature (°C) —10 to 50 (No freezing)
Lubrication Not required
M g oril Free
Impact/Vi ion resi (m/s?) Note 1) 300/50

Note 1) Impact resistance: No malfunction to axis and right angle directions of main valve, each one time when
pilot signal ON and OFF. (Values at the initial period)
Vibration resistance: No malfunction from test with 45 to 2000 Hz one sweep, to axis and right angle

direction of main valve, each of
the initial period)

ne time when pilot signal ON and OFF. (Values at

Pilot Pressure Range (Single pilot)

1.0

0.9

0.8

0.7 Pilot pressure range

0.6

Pilot pressure (MPa)

0.3

[

0.2

0.1

Operating pressure (MPa)

01 02 03 04 05 06 07 08 O

9 1.0

1507
Best Pneumatics 1-2 Ver.6

=|l=lle==IEl<l|[<|wxn
N =<||Z8|=J N || =<
;>'SE§H>':E§

S|S
==

s
=
()



VFA3000/5000 Series

Flow Rate Characteristicleeights

Flow rate characteristics Note 1)
) , 1-4/2 (P—A/B) 4/2-55/3 (AB—EA/EB)
Valve model Type of actuation Port size Weight (g) Note 2)
Clam| oy |Clm”| .
(s/bar)] (s/bar)]
" Single 2.8 0.14 0.64 25 0.18 0.57 295 (143)
2 position
Double 2.8 0.14 0.64 25 0.18 0.57 318 (166)
Closed center 21 0.22 0.49 1.6 0.26 0.41
VFA3140-02 1/4 28 0.3 0.66
3 position | CXhaustcenter 23 | 021 1 088 | 541 | jo26) | [0.50] | 335 (183)
2.9 0.16 0.67
Pressure center 1] 045 | ©0.32] 2.1 0.23 0.49
" Single 3.1 0.24 0.76 2.6 0.23 0.62 278 (143)
2 position
Double 3.1 0.24 0.76 26 0.23 0.62 301 (166)
Closed center 22 0.33 0.57 1.6 0.34 0.40
VFA3[40-03 3/8 28 0.30 0.68
3position | TXhaustcenter 26 | 027 1 081 | gy | jo28] | (055 | 318 (183)
3.4 0.29 0.80
Pressure center [1.3] (048] | [©0.38] 22 0.31 0.52
. Single 7.3 049 | 21 7.3 050 | 2.0 467 (278)
2 position
Double 7.3 0.49 21 7.3 0.50 20 502 (313)
Closed center 6.6 0.35 1.7 6.3 0.31 1.6
VFA5[144-02 1/4 8.1 0.35 2.1
3 position | Xhaust center A0S Sy | o34 | [1.9] 541 (352)
8.0 0.35 21
Pressure center 2.9] [0.48] | [0.85] 5.6 0.31 1.5
" Single 8.4 0.34 22 8.9 0.29 23 454 (278)
2 position
Double 8.4 0.34 22 8.9 0.29 23 489 (313)
Closed center 7.3 0.34 2.0 71 0.28 1.8
VFA5144-03 3/8 14.0 0.26 3.4
3 position | CXhaustcenter 81| 027 1 20 | g5 | jo31) | 22] | 528(352)
8.1 0.33 2.0
Pressure center 2.5] 048] | [©0.74] 57 0.31 1.4
. Single 9.4 0.43 27 12.0 0.32 3.0 526 (278)
2 position
Double 9.4 0.43 2.7 12.0 0.32 3.0 561 (313)
Closed center 71 0.41 2.1 7.4 0.32 2.0
VFA5[44-04 12 13.0 0.21 31
3 position | EXhaustcenter 86 | 039 | 24 89 | [0.40] | [2.5] 600 (352)
11.0 0.18 2.6
Pressure center 28] 047 | ©0.78] 6.1 0.35 1.6

Note 1) [ ]: Normal position
Note 2) ( ): Values without sub-plate
1508

Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve
Base Mounted/Single Unit

Construction: Base Mounted

VFA3000, 5000

Symbol
2 position single

(A4 2(8)

-
(EA)5 1 3(EB)
(P)

Symbol
2 position double
(A4 2(8)

> G-
(EA)5 1 3(EB)
®)

Symbol
3 position closed center
(A)4 2(8)
Y Y
(EA)5 1 3(EB)
(P)

3 position exhaust center
W4 26)

A

(E8)

(EA)S 1
P)

3 position pressure center
(W4 2)

. Y.
(EA)5 13(EB)
®)

Component Parts

2 position single

2 position double

(Drawing shows a closed center type.)

Sub-plate part no.

VF[3/000-71-

VFA3000/5000 series

;Thread type

— - Series
No. Description Material Note n Nil Re
1 Body Aluminum die-casted White B F G
2 Pilot plate Aluminum die-casted Gray . N NPT
3 | Endplate Resin White Port size T | NPTF
4 | Piston Resin Symbol| Port size | VFA3000 | VFA5000
- 1 1/4 ©) o
5 Spo'ol valve Alurn.lnum, HNBR 2 38 o) o)
6 Spring Stainless steel 3 72 — ¢}
Replacement Parts
No. Description Part no. Nott
: ote
P VFA3000 VFA5000
7 | Gasket DXT031-30-11 DXT156-9-8 HNBR
. o 1/4: VF5000-71-100
8 | Sub-plate ;;g :;Egggg;:;g 3/8: VF5000-71-201 Aluminum die-casted
: 1/2: VF5000-71-300
__ | Round head combination DXT031-44-1 _ For mounting valve .
screw (1 pc.) (M4 x 39.5, With spring washer) 9 Vi ' \ Caution

Hexagon socket head cap
screw (1 pc.)

AXT620-32-1

(M4 x 48, With spring washer) For mounting valve

Tightening Torque
for Mounting Valve

M4: 1.4 N-m
1509

Best Pneumatics 1-2 Ver.6

2RI
-
£|s

=
N
=

FRA
PA4

HEHHHE =

3
=

s
=
()



VFA3000/5000 series

Dimensions: VFA3000 Series/Base Mounted

2 position single

02
VFA3140-2(1(-P)
1/4,3/8 28 33
[4 (A), 2 (B) port]
k& oy
‘ =
1/8
(Pilot port: Upward) 81
46 36 20
= L
<
g DA
=Y e —— e |
2x04.3
(For mounting)
88.5
1/8
[Pilot port: Lateral (-P)]
=)
0 0
<t (5]
© I ©
Breathing hole / ~
£ o 85
1/4,3/8 25 | 25
[1 (P), 5 (EA), 3 (EB) port] 43
81

2 position double
VFA3240-220(-P)

1/4, 3/8

28

33

[4 (A), 2 (B) port]

k&)

B

22

1/8

(Pilot port: Upward)

46 36 20
& <
I gl 3| ¥
RN
2x04.3
(For mounting)
66 15
88.5
1/8
[Pilot port: Lateral (-P)]
=)
o
<
© Breathing hole, g
/ ~
3 s
1/4, 3/8 25 _|.25
[1(P), 5 (EA), 3 (EB) port] 43

81

3 position closed center/exhaust center/pressure center
3
VFA3 g40-8§D(-P)

1510

1/4,3/8 2833
[4(A),2(B) port] \__|
‘ o
3V
‘ I ‘
18
(Pilot port: Upward) 81 1
46 36 20
% W [
] el
= \ s
[sea {or "
2x04.3 8.5
(For mounting) e
97
1/8
[Pilot port: Lateral (-P)]
=5
wn
3 :
Breathing hole/ o
15 EDA
1/4, 3/8 25 | 25
[1(P), 5 (EA), 3 (EB) port] 43
81

Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve
Base Mounted/Single Unit

Dimensions: VFA5000 Series/Base Mounted

VFA3000/5000 series

2 position single 1/4,3/8, 1/2 2 position double 1/4, 3/8, 1/2
02 [4 (A), 2 (B) port] 02 4 (R), 2 (B) port]
VFA5144-ggD(-P) 27 as VFA5244-82D(-P) o7 ag
(31) | (39.5) (31) | (39.5)
1O [ O YA
— = — -
gg zg 23 x2 SYJA
1 il VZA
1/8 1/8 92
[Pilot port: Lateral (-P)] [Pilot port: Lateral (-P)] (100)
51.5 82 5 515 82
(55.5) ‘ @©7) [65) (55.5) ®7) \FRA
[&F T T
?: ] | ‘D?: T & L
f i ol ofs . ol sz s |VPM
0 ) 7—@ - - [T} ) -l - -
< sEA " ses < [Ceen " a8 K SYJA
225 2xM5x0.8 975 22, 2xM5x0.8 9
65 (Breathing hole) 2x053 65 (Breathing hole) 2x05.3
(26.5) 110 (2x06.5) (26.5) 119 (2 x 26.5) \V'ZA
m______ (For mounting) 1/8 (For mounting)
(Pilot port: Upward) - (Pilot port: Upward) - \ITA
X|E i ©|g |VGA
= wl@ = wl®
SO &8 Do 85 | |va
20 | 30 1/4, 3/8, 1/2 20 | 30
1/4,3/8, 1/2 @) 6 5 [1(P), 5 (EA), 3 (EB) port] = (54y""(31) @ \VPA3
[1 (P), 5 (EA), 3 (EB) port] 50 Iz 50 Iz
92 (545) 45 (54.5)
(100) (0.5)
3 position closed center/exhaust center/pressure center
3 02
1/4,3/8, 1/2
VFA5§44 83D( P) 4 (A), 2 (B) port] 27, . 36
(31) | (39.5)
—LO g
) I
glz s
1/8 al
[Pilot port: Lateral (-P)]
515 2x05.3 (2‘x 06.5) 82 5
(55.5) (For mounting) ‘ ®7) W‘i(B.S)
[T T
Il T
i $;7 @ ‘ }7# g @ g %\
. — e LB 7"
“ o] \exmsxos 93 20,
(‘26_:’;) (Breathing hole) ©7) T16)
1/8 325
(Pilot port: Upward) 138 (28.5)
[=n)
N
NS
= ule
o O e
30 | 30 )
1/4,3/8, 1/2 @) | 31) <|e
[1 (P), 5 (EA), 3 (EB) port] 50 T
92 (545)
The dimensions in () are for 1/2 piping port size. (100)
1511 ®

Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve

VFA1000/3000/5000 Series

Body Ported | Manifold

How to Order Manifold

EEEEEEE vvsFA[1]-[30-[04)1-

Series Thread type
1 | VFA1000 Nil Rc
3 | VFA3000 00F G
5 | VFA5000 Stations 00N | NPT
02 | 2 stations 00T | NPTF
Manifold model g :
Symbol| P, R Port size | VFA1000 | VFA3000 | VFA5000 20 |20 stations
1/8 [e] — — + Up to 10 stations for
30 1/4 — [e) — VV5FAS5-20, and up to 15
20 38 — — f6) stations for VV5FA5-21.
21 1/2 — — o

# The A and B ports are made on the top.

Individual exhaust -
e VV5FA1-31-[043

Manifold model Stations Thread type
S) mbol‘ P, R Port size ‘ EA, EB Port size 02 |2 stanons Nil Rc
31 118 \ M5 : 00F | G
20 |20 stations 00N | NPT
00T | NPTF

Note) When placing an order for body ported valve as a single unit,
mounting screws for manifold and gasket are not attached. Order

How to Order Valve tem separately, if necessary. (Refer to page 1514 for details.)

VFA [3]o-[o1][ ]-

Series Pilot port direction
1 | VFA1000 Nil: Upward P: Lateral
3 | VFA3000 Pilot port
5 | VFA5000

Type of actuation
1 | 2 position single
2 |2 position double
3 |3 position closed center
4

5

3 position exhaust center
3 position pressure center
+ Only 1 and 2 are available with the VFA1000.

Thread type
Body model (Including pilot port)
Symbol| VFA1000 | VFA3000 | VFA5000 Nil Re
2 — — [®) F G
3 [ Owmme o) — N NPT
Note) Manifold only T NPTF

« M5 is available with Nil only.

A, B port size

Symbol| Port size | VFA1000 | VFA3000 | VFA5000
M5 | M5x0.8 ¢ — —
o1 1/8 o o —
02 1/4 — [¢) [¢)
03 3/8 — — [¢)

1512
Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve
Body Ported/Manifold

Manifold Specifications

VFA1000/3000/5000 Sseries

Note) Supply pressure to 1(P) ports and exhaust pressure from R ports on both sides for 10 stations or more (5 stations or more for the VFA5000).

How to Order Manifold Assembly

Example (VV5FA3-30)

Closed center
VFA3330-02 (1 set)

Double solenoid
VFA3230-02 (1 set)

Single solenoid

* VFA3130-02--

VV5FA3-30-051----1 set (Type 30, 5-station manifold base part no.)
3 sets (Single part no.)

1 set (Double part no.)

1 set (Closed center part no.)

# The asterisk denotes the symbol for assembly. Prefix it to the part no. of the valve etc.

* The valve arrangement is numbered as the 1st station from D side.

* Under the manifold base part number, state the valves to be mounted in order from the 1st station as

shown in the figure above.

1513
Best Pneumatics 1-2 Ver.6

Series VFA1000 VFA3000 VFA5000
VV5FA1-30 VV5FA3-30 4(A).2 8 port | VVSFA5-21
4 (A), 2 (B) port 4 (A), 2 (B) port 1/4, 3/8 )
118 1/4 SYA
SYJA
VZA
VV5FA1-31 VV5FAS5-20
Manifold 4.(A), 2 (8) port 4(A). 2 (B) port m
base model
5 (R), 3 (R) port VFRA
174
VPA4
SYJA
VZA
VTA
SLFe Common EXH Individual EXH Common EXH Common EXH Common EXH VGA
lype
Applicable
vEle el VFA1030 VFA3030 VFA5020 VPA
Applicable ) ! ) . ’7
stations 2 to 20 stations 2 to 20 stations 2 to 10 stations 2 to 15 stations VPA3
Manifold
Weiglilts:ew[g] W =29n + 21 W=51n+35 W =63n + 64 W =97n + 80 W = 139n + 550
Stations: n



VFA1000/3000/5000 series

Manifold OEtions

H For body ported H Mounting screw, gasket part no.
Blanking plate assembly

Valve mounting screw

V

Series Blanking plate assembly part no. Series Valve mounting screw (1 pc.) Gasket
VFA1000 DXT144-13-3A VFA1000 | Round head combination screw | DXT144-12-2
VFA3000 DXT031-38-5A DXT031-44-1

VFA3000 i i DXT155-25-7
VFA5000 VF5000-70-1A (M4 x 39.5, With spring washer)

Hexagon socket head cap screw
VFA5000 AXT620-32-1 DXT156-9-6
(M4 x 48, With spring washer)

M Individual EXH spacer assembly

A Caution

‘ Tightening Torque for Mounting Screw
M4: 1.4N-m

AWarning

When mounting a valve or spacer on the manifold base or sub-plate,
etc., the mounting orientation is already decided. If mounted in a
wrong direction, the equipment to be connected may result in a
malfunction. Refer to the dimensions for mounting.

EXH port

VF[3]000-75-1 |A

Series Thread type
Symbol]  Series | Port size Nil Rc
3 | VFA3000 1/8 F G
5 | VFA5000 1/4 N NPT
T | NPTF

1514
Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve

Body Ported/Manifold

Dimensions: VFA1000 Series

Type 30: VV5FA1-30-0001-00: Common exhaust

1/8

VFA1000/3000/5000 Sseries

[4 (A), 2 (B) port]
L1
0 L2 5
~ @©
- 12 tl
oF T[] [ 0| T T l ‘
vl & B S0
8 g’ %%ﬁ & kA gé:: )
= el ol el 1ol 1 2[&
2% 055 (Pitch) | Sl
(For mounting) ~ P=27.5 235 1/8
(Pilot port: Upward)
(Station n) -------eoeeeeeeeeeea (Station 1)
1/8
[Pilot port: Lateral (-P)]
& (& & &
? o)
Bl @ ¥ 1®| & o 8
| [&”

10

o

re)
)

\1/8

[1 (P), 5/3 (R) port]

Breathing hole

Type 31: VV5FA1-31-003-0: Individual exhaust
1/8
(Pilot port: Upward)
L1
5 L2 M5 75 1/8
12 Breathing hole [1 (P) port]
A 1 i M5 x 0.8 o
oF I o BH =] = L
3 I gg) ) B B 2 [ gl
8 2 t;—/’ 5 i {%
) 28.2
2x855 5L | (Piten) g = (Not used.)
(For mounting) 23.5 P=27.5 [4 (A), 2 (B) port]
(Station 1) -------------smmmmeoooee (Station n)
1/8
[Pilot port: Lateral (-P)]
KECEEEEEE
e
2 el el ol o] ol |
¥ ml © 00 00 ee?
N A EB EA EB
M5x0.8 1
[5 (EA), 3 (EB) port] (Pitch)
18 P=27.5
Dimensions (Common to Type 30 and Type 31) n: Stations
L n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 | 745|102 | 129.5 | 157 | 184.5 | 212 | 239.5 | 267 | 294.5 | 322 | 349.5 | 377 | 404.5 | 432 | 459.5 | 487 | 514.5 | 542 | 569.5
L2 | 645 | 92 | 119.5 | 147 | 1745 | 202 | 229.5 | 257 | 284.5 | 312 | 339.5 | 367 | 394.5 | 422 | 449.5 | 477 | 504.5 | 532 | 559.5
1515

Best Pneumatics 1-2 Ver.6

2
=

FRA
PA4

HHH = HH

=
N
=

S
=

S|S
==

s
=
()



VFA1000/3000/5000 series

Dimensions: VFA3000 Series
Type 30: VV5FA3-30-00001-00: Common exhaust

L1
L2 6
B4 8
<l |14 (A), 2(B) port] \ } 1.5
Y T 7 o —
2| o gP %S o
5 ® ol :} {f 1 QE% - & o v
Lo — —& o 5| ©
ot D o Lo
&= < o
ﬁ }7 1/4
4x055_ EXin 1 (P), 5/3 (R) port]
(For mounting) 28 _\1/8 Breathing hole

(Pilot port: Upward)

(Station n) ---------mmmseeeeooooes (Station 1)
1/8
[Pilot port: Lateral (-P)]

®®®®§‘

64

27
(L
45.5

Dimensions n: Stations

L nl 2 | 3 4 5 6 7 8 9 | 10 |11 | 12 |13 | 14 |15 | 16 |17 | 18 [ 19| 20
L1 |835] 111 [ 1385 | 166 | 193.5 | 221 | 248.5 | 276 | 303.5 | 331 | 358.5 | 386 | 413.5 | 441 | 468.5 | 496 | 5235 | 551 | 578.5
L2 |715| 99 | 1265 | 154 | 181.5 | 209 | 236.5 | 264 | 291.5 | 319 | 346.5 | 374 | 401.5 | 429 | 456.5 | 484 | 511.5 | 539 | 566.5

1516
Best Pneumatics 1-2 Ver.6



> P Body poneamaniod VIFA1000/3000/5000 Series

Dimensions: VFA5000 Series
Type 20: VV5FA5-20-00001-00: Common exhaust

L1
L2 65
1/4, 3/8
Fof] 2 | /. 2@ por 175 SYA
| af Ny PR 125
o = ¢ I SYJA
O als Q ® q g
s [ eeotetoretete A (] s
) OO DIODa A
EDMIEIICIN ﬁ% , LN
18 (Pitch) 4xo7 1 (). 35 [ pord
(Pilot port: Upward) P=33 | 30 (For mounting) Breathing hole VPA4
(Station n) -----ocoreseaseonenes e (Station 1) 1/8 SYJA
[Pilot port: Lateral (-P)]
S M—ﬁﬁ S VIA

=
D
=

Dimensions n: Stations VPA
c—0n] 2 3 4 5 6 7 8 9 | 10

L1 93 | 126 | 159 | 192 | 225 | 258 | 291 | 324 | 357 VPA3
L2 | 80 | 113 | 146 | 179 | 212 | 245 | 278 | 311 | 344

Type 21: VV5FA5-21-001-0: Common exhaust

L1
L2 17.5 20
15
Fof] ’ e
& GRRC R

66

i~
e
e Qa9 0a e
& seloll ol Lol ol 112

el T 1 - \,:>\ § i' R ————
1/8 f 1/4, 3/8 7 (Pitch) [1 (P), 3/5 (R) port]
y > P=33 65 4x09 Breathing hole

(Pilot port: Upward) [4 (A), 2 (B) port] (For mounting)

@
@

o

.28 |
110
125
.|
Yare
e
8

47

141
47
I
rd
U,

(62.5)

(Station n) -roesseroseeem e (Station 1) 1/g
[Pilot port: Lateral (-P)]

b
| ~
g w
!
al
oi
Dimensions n: Stations
L nl 2 3 4 5 6 7 8 9 10 11 12 13 14 15
L1 163 | 196 | 229 | 262 | 295 | 328 | 361 | 394 | 427 | 460 | 493 | 526 | 559 | 592
L2 128 | 161 | 194 | 227 | 260 | 293 | 326 | 359 | 392 | 425 | 458 | 491 | 524 | 557

1517
Best Pneumatics 1-2 Ver.6



5 Port Air Operated Valve

VFA3000/5000 Series

Base Mounted Man ifOId

How to Order Manifold

VV5FA[3]-40-[05]2-02

Series Stations Thread type
Symbol Series P, R Port size A, B Port size 02 | 2 stations Nil Rc
3 VFA3000 1/4 1/4 q : F G
5 VFA5000 3/8 1/4 20 | 20 stations N NPT
+ The A and B ports are made on the bottom. + Up to 10 stations for T NPTF
VV5FA5

How to Order Valve (With a gasket and two mounting screws)

VFA 4[0]-[ -

Series Pilot port direction

[ 3 [ VFA3000 | Nil: Upward P: Lateral
| 5 | VFAs000

+ Not available with the
VFA1000.

Pilot port

Type of actuation

1 |2 position single
2 | 2 position double
3 | 3 position closed center
4 | 3 position exhaust center
5 | 3 position pressure center
Body model
Pilot port thread type
Body option Nil Rc
Symbol| VFA3000 | VFA5000 00F G
0 o — 00N NPT
4 — o 00T NPTF

1518
Best Pneumatics 1-2 Ver.6



® Base Mounteamanitoia VIFA3000/5000 Series

Manifold Specifications

EXH port | Applicable valve | Applicable Manifold base

Series Manifold base model type model stations | Weight: W[g] Stations: n

VV5FA3-40

Common 2t020
VFA3000 EXH VFA3040 stations W =110n + 116
VV5FA5-40 PE port
Common 2t0 10
VFA5000 EXH VFA5044 stations W =161n + 128

1 (P) port
3/8

4 (A), 2 (B) port
1/4

Note) Supply pressure to 1(P) ports and exhaust pressure from R ports on both sides for 10 stations or more (5 stations or more for the VFA5000).

How to Order Manifold Assembly

Example (VV5FA3-40)

Closed center Double solenoid
VFA3240 (1 set)

Single solenoid
VFA3140 (3 sets)

Manifold base (5 stations)
VV5FA3-40-052-02

%,
VV5FA3-40-052-02---1 set (Type 40, 5-station manifold base part no.)
* VFA3140-: -3 sets (Single part no.)
+ VFA3240-: -1 set (Double part no.)
+ VFA3340- -1 set (Closed center part no.)
+# The asterisk denotes the symbol for assembly. Prefix it to the part no. of the valve etc.

* The valve arrangement is numbered as the 1st station from D side.
* Under the manifold base part number, state the valves to be mounted in order from the 1st station as
shown in the figure above.

Refer to page 1520 for manifold
options.

1519
Best Pneumatics 1-2 Ver.6

2
=

FRA
PA4

HEEH:EE

HHE
===

s
=
()



VFA3000/5000 Series

Manifold OEtions

H For base mounted H Mounting screw, gasket part no.
Blanking plate assembly

Valve mounting screw

V

Series | Blanking plate assembly part no. Series Valve mounting screw (1 pc.) Gasket
VFA3000 DXT031-38-5A Round head combination screw
VFA5000 VF5000-70-2A VFA3000 DXT031-44-1 DXT031-30-11

(M4 x 39.5, With spring washer)
Hexagon socket head cap screw
VFA5000 AXT620-32-1 DXT156-9-8
(M4 x 48, With spring washer)

Ml Individual EXH spacer assembly

g T A Caution

‘ Tightening Torque for Mounting Screw
M4: 1.4N-m

AWarning

When mounting a valve or spacer on the manifold base or sub-plate,
etc., the mounting orientation is already decided. If mounted in a
wrong direction, the equipment to be connected may result in a
malfunction. Refer to the dimensions for mounting.

EXH port

VF[3/000-75-2| |A

Series Thread type

Symbol| ~ Series Port size Nil Rc

3 | VFA3000 1/8 F G
5 | VFA5000 1/4 N NPT
T | NPTF

1520
Best Pneumatics 1-2 Ver.6



Dimensions: VFA3000 Series

5 Port

Air Operated Valve

Base Mounted/Manifold

Type 40: VV5FA3-40-01002-0200: Common exhaust

VFA3000/5000 series

L1
L2 6 49
4 x05.5 13
1 1 (For mounting) N 0.5
2 I I l T 1
“ 3 > z;ig Y
° . D | [ 3 = ©
Y © P ©
g |2 g4 NE
ElERE L H .
(Pitch) | Sl 1P R) port
P=27.5 28 \1/8 [ (P). 573 (R) port]
(Pilot port: Upward)
(Station n) -----------socoooooeoee- (Station 1)
1/8
[Pilot port: Lateral (-P)]
& & (¢ |9 \@'
ol ol ol ol le ol
| [of*
@
22
(Breathing hole) 14
[4 (A), 2 (B) port]
P e S o P4
oD QG Q G
B 8 N
P B OO ps
N
RN I T
N ] 10
ERA R (Pitch)
%, ® 1] P=27.5 23
K
Dimensions n: Stations
L n 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20
L1 83.5 | 111 | 138.5 | 166 | 193.5 | 221 | 248.,5 | 276 | 303.5 | 331 | 358.5 | 386 | 413.5 | 441 | 468.5 | 496 | 523.5 | 551 | 578.5
L2 715 | 99 | 126.5 | 154 | 181.5 | 209 | 236.5 | 264 | 291.5 | 319 | 346.5 | 374 | 401.5 | 429 | 456.5 | 484 | 511.5 | 539 | 566.5
1521

Best Pneumatics 1-2 Ver.6

FRA
PA4

HHESHE

HE
= || >

=
D
=

5
=

s
=
()



VFA3000/5000 Series

Dimensions: VFA5000 Series

Type 40: VV5FA5-40-01002-0200: Common exhaust

L1
L2 6.5
4 x 07 <§.
' * (For mounting) —3 205]
[ s v —— i
T i i i 1
8y 2 D
g |7 & 8
- ol v ya Vol | o
- W~ ~
& S @
S G 2 = @7;
—Hol Lol LIeLLIoL LIl a8
ﬂ““ﬂmﬂmfsm“) X [1 (P), 3/5 (R) port ]
P=33 | 30 N1/8 M5 x 0.8
(Pilot port: Upward) (Breathing hole)
(Station n) ----------mmmmoommeoee oo (Station 1)
i [Pilot poq: Lateral (-P)]
ol ®
ol 18
]
1/4
R
> OO O GA‘m[
N
D O O OO
& OO O O
me (Pitch)
oE P=33 | 30
Dimensions n: Stations
L n 2 3 4 5 6 7 8 9 10
L1 93 | 126 | 159 | 192 | 225 | 258 | 291 | 324 | 357
L2 80 | 113 | 146 | 179 | 212 | 245 | 278 | 311 | 344
1522

Best Pneumatics 1-2 Ver.6



	5 Port Air Operated Valve: VFA1000/3000/5000 Series
	Model Selection by Operating Conditions: Single Unit
	Model Selection by Operating Conditions: Manifold
	VFA1000/3000/5000: Single Unit Body Ported
	How to Order Valve
	Specifications
	Flow Rate Characteristics/Weights
	Construction
	Dimensions/VFA1000
	Dimensions/VFA3000
	Dimensions/VFA5000

	VFA3000/5000: Single Unit Base Mounted
	How to Order Valve
	Specifications
	Flow Rate Characteristics/Weights
	Construction
	Dimensions/VFA3000
	Dimensions/VFA5000

	VFA1000/3000/5000: Manifold Body Ported
	How to Order Manifold, How to Order Valve
	Manifold Specifications
	Manifold Options
	Dimensions/VFA1000
	Dimensions/VFA3000
	Dimensions/VFA5000

	VFA3000/5000: Manifold Base Mounted
	How to Order Manifold, How to Order Valve
	Manifold Specifications
	Manifold Options
	Dimensions/VFA3000
	Dimensions/VFA5000




